New Maths GCSE: G15 - Bearings and Compass Points

Correct Answer: ABCD
What is the Explanation:
bearing of
I
0450 B 0900 --------------------------------------------------------------------------
2700 B 1800 | et

Correct Answer: ABCD

What is the Explanation:
bearing of
South (S)?

3600 B 0900 | e s

2700 Bl 1800 | e

Correct Answer: ABCD
What is the Explanation:

bearing of
West (W)?

360° B 090°

27009 Bl 1800 | e
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, Correct Answer: ABCD
What is the

bearing of Explanation:
SOUth-East = | e e
(SE)? | et
2250 o 0450 ..........................................................................
1350 Bl 0900 | et
N Correct Answer: ABCD
Explanation:
2700 o 0450 ..........................................................................
2250 Bl 3150 | e

, Correct Answer: ABCD
What is the

bearing of Explanation:

SOULth-West | s

(SW)? | e
2700 B 1350 ..........................................................................
2250 Bl 3150 | e
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